TATE OF KANSAS FORM CP-1
STATE CORPORATION COMMISSION Rev. 2/89
CONSERVATICON DIVISION
200 Colorado Derby Building
Wichita, Kansas 67202

WELL PLUGGING APPLICATION FORM
{(File One Copy)

; 00
API NUMBER /5 ~7/34-23 (of this well).
(This must be listed; if no API# was .lssuéd, please note drilling completion date.)

S7
WELL OWNER/OPERATOR [Yuwin.ne-~AEbSaw & re OPERATOR'S LICENSE NO.04373 )
ADDRESS PHR 372 j-lﬂysl.ks. b2tol PHONE # (9/3) 4268-39Y9

LEASE (FARM) (3R M\ WELL NO. [ WELL LOCATION A/2 -S/2 <S4 COUNTY M&S.S
Sec. 1 Twp. 1§ RGE.A3 (E)or@ ToTaL DEPTH 4390 PLUG BACK TD CiBP® 4{5¢6

Check One:

OIL WELL GAS WELL D& A “ SHD or INJ WELL DOCKET NO.

SURFACE CASING SIZE 6‘5/52 “ SET AT 205 CEMENTED WITH [4pD

CASING SIZE é V?.- " SET AT 43? 2. CEMENTED WITH /5/0
PERFORATED AT 4368 -7(3 4352 <53 4343 -50 5 C.0P@ 4/56 ; Rerce= @ 4)( -2

CONDITION OF WELL: GOOD __ L~~~ POOR CASTNG LEAK JUNK IN HOLE

PROPOSED METHOD OF PLUGGING Spna sdom ARifie Piug. 70 5o’ gvem Penrs, 5sks comest-
with beiler , $ees P‘““t shogt ﬂcasr% ”g.ﬁ\\ casing plug Mhrough P 0200 SkS camat, Shantory

with oot A s ) 103ks gal 1S sks cemond | Osks gef [sk tlls BY " alug 41§ s0cks comant

" (If additional space is needed use back ‘cf form.)

IS WELL LOG ATTACHED TO THIS APPLICATION AS REQUIRED? ¥é$ IS ACO-1 FILED? e

If not explain. jng proassed s g caf
raports Wiee Sens mipdon o 0/‘L}d.( Xp ) Ao 15 being p as /s geologs
DATE AND HOUR PLUGGING IS DESIRED TO BEGIN 3-Jo0~Go @ Floo Awm

PLUGGING OF THIS WELL WILL BE DONE IN ACCORDANCE WITH K.S.A. 55-101 et. seqg. AND THE
RULES AND REGULATIONS OF THE STATE CORPORATION COMMISSION.

NAME OF REPRESENTATIVE AUTHORIZED TC BE IN CHARGE OF PLUGGING OPERATIONS:
RoNv N EwSoM PHONE # (9/3) L 26 -3Y49
ADDRESS _ )% £ S¥  Hays Ks. 6760
PLUGGING CONTRACTOR "'PAamisl w{.g‘;eme— LICENSE NO. 4p72 }Vf o

ADDRESS Dot 346 ”E(%Q (’.;35 KS _is1860 PHONE # (qi3) 7483945

PAYHEIN'I‘ OoF TH%&UGGING FEE {K.A.R. 82-3-118) WILL BE GUARANTEED BY OPERATOR OR AGENT.

pov \?{W\&a 0 SIGNED: %‘n/ /I,
ZD be’\w—l (Operator or Agent)

_ 3=t




